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Question Number : 1 Question Id : 8740819618 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following data collection methods is not normally used in qualitative
research ?

e J H BE-E RSS! HqHsv GEE B 9GET JEEE: JOAS
o H A A S BT

Options :

Participant observation

1. %

Focus groups
, g PRI HiE

Questionnaire
3, ¢ AXTE

Semi-structured interview

4 % Hem H{HATHE HIEAERIE

Question Number : 2 Question Id : 8740819619 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

When a hypothesis states that there is no difference between two situations, groups,
outcomes or the prevalence of a condition, it is called :
U OieRedE TAEH o f™iodl, 9=, 9RemAr a1 el i @ =
H T HAT A8 &, d 34 HEI A B
Options :

Alternative hypothesis
| % Tieaes OiERea

Null hypothesis
— rv'r"r;_ﬂ
) 9 U =hed-l

Descriptive hypothesis
3w TOTHS T

Numerical hypothesis
4 x GEATHE THEHTT

Question Number : 3 Question Id : 8740819620 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In which kind of research, analysis of data is an ongoing process during data collection ?

T =R & 9N o RSl & SUE9 & Gl HATHS! hl 90 UF Jod

Options :
Qualitative

1w 3T

Quantitative
) ® HI=THE

Survey

HaeToT

3. %

Experimental

U L=
4, % '

Question Number : 4 Question Id : 8740819621 Question Type : MCQ Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the main aim of interdisciplinary research ?
Options :

To over simplify the problem of research
HATHIA FHET F i T4 &

1. ®

To bring mlt the holistic ’1ppmach to research

2J34:1'€TI7|' qulfﬁlu—ﬂ:{ﬁm

To create a new trend in research methodology
% FIEUN TSl H oAU ugig & FEe & e

3.

To reduce the emphasis on a single subject in the research domain
TIEAN = F o ow faueg 97 g9 (F9) @ 59 @ § o

4, ®

Question Number : 5 Question Id : 8740819622 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following feature is considered as critical in qualitative research ?
‘]"JTI?HTQ'ITJ:EW#, MfeTaa § o HiE-Al -{I?I'-II?F[‘T”'_—FI“TWHT
ST Hebel 5 7

Options :
Collecting data with the he]p of standardized research tools
L% H Ld ST ITHION Al HerEdr o ?r-llﬂh‘al T Hehoro

Design sampling with probability sample techniques
5 % EEEIAT gGeT Tl W Hies =EE H A THDed

Collecting data with bottom-up empirical evidence
USTIl ® Hebod H O FAETEd HJiEmd @ e H 3= 'l @ AR

Gathering data with top-down schematic evidence
y w 99 F TP FIReT Jea d9inEa gen JaEeT



Question Number : 6 Question Id : 8740819623 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

'Parameter’ indicates the characteristics of which of the following ?

‘e’ MeTeaT " o e SeTaare & senar 5 7
Options :

Population

1, o

Sample
5w HfcTEel

Statistics

Statistical measurements
4 % HADE AT

Question Number : 7 Question Id : 8740819624 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is an indication of the quality of a research Journal ?

F=iAiEe | | HE-E U SN 9= H YO B FHDH BT
Options :

h-index
L% Lt EEAET

g-index

) ® ST-H=ARIH

i 10-index
s % FTS 10-F=HH

Impact factor
4 T T



Question Number : 8 Question Id : 8740819625 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The nmphng techmque based on referral system Dfrespcrndenh is known as :
IUIGIIAT & T JUEl 9 ATHG 9iad=ad T &l . @ 09

H AT AT B

Options :
Convenience Sampling
-FI:; b T, b=
L% ﬁ-_j)I-IﬂT HAld=H+

Snowball Sampling
=T Oia=a

Cluster Sampling
VeI ISERE

Stratified Sampling
T Jid=a4

Question Number : 9 Question Id : 8740819626 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the first stage of a systematic review of literature ?
AT el HHIAT & 95l =29 497 5 7

Options :

Assess the relevance of each study to the research question(s)
.- HATEH UeS (WeHl) H U Ued FeAAS B ATENTRT B FHThT
Define the purpose and scope of the review
, @ THET & Igesd A AT H 9

Appr’u%& the qmllh of studies from the previous step
fgel =791 & ol (F=Ed) | TOTET AT FEE

3. %



Survey all of the literature contained within a single library
% T B JEaheE | Mg g4 afee i adeo

4.

Question Number : 10 Question Id : 8740819627 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What does it mean to operationalize a variable for empirical research ?
HAIATTA AJHIH & 0 U =T B/ =TT HIA B AT AL F 7

Options :
Defining variables into measurable factors
1. ¢ T M A AT FHEHI H IHNTT He

Describing which variable will be operational
, w T HAT o6 HBEA-H = A= B

Describing the tools of research
3 x FTHI & HIEA B IO AT

Describing the criteria of selection of elements in sample
4 x FGRT H SHEAT & FIT & AWGS B IO HIAT

Question Number : 11 Question Id : 8740819628 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

ANOVA is used to calculate :

UHTET (ANOVA) T I99RT 9641 JET & ¢

Options :
The difference between two treatments effect
| % S TUER "EEl & g & ¥ & g

The difference among more than two treatments effect
v O H FAEE I0ER q9E & 9= F AaT F [T

2

The association between two variables
s x O T & A HaAT & oo



The correlation between two variables
« of T4 & 949 JedEg & g

4.

Question Number : 12 Question Id : 8740819629 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

. are errors that can be attributed to sources other than sampling, and they can be
r’mdom or non-random.

L

o IiF'ZlI 5 o=
T TFaT B

L ==

181 5 2 s M R = [ = = v =1 o = O T
AGBH a1 -A5=sa =7 9@ - |

=

- 113

Nl 5'1«_’

R4

Options :
Random sampling error

, JTers® dia=ae Fie

NGH-[’ESPDIISE error
T —aidiEpar Jio
F )

Non-sampling error
TT-Tie=E= Fie

3.¢

Response error
EIGIEE =

4, #

Question Number : 13 Question Id : 8740819630 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is not a type of non-probability sampling ?

M= H | THF-F1 IT-FAEA] 9i0=aT 6 UE TS q8 2 ¢
Options :

Quota sampling
| x el Afa=aA

Snowball sampling
5 w T ST



Cluster sampling
VS ISERE

3.¢

Convenience sampling
4w BT HiA=E

Question Number : 14 Question Id : 8740819631 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Idea generation by two or more people thinking as freely as possible is formally known
as :

S AT S {EUE @R dT IUEEd Ead w9 99w #1 oS
A= ®H 9 F 9 9@ S0 A 5 7

Options :
Gap analysis

| % Hae Feeo

Forced relationship
)y T HeE

Brainstorming

3 o AT (S-EEIE)

The learning curve

% Hra= & g

Question Number : 15 Question Id : 8740819632 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In research terminology the extraneous variable can be described as ............. .
2N STerdell | =e40 =7 Hl 3H WHIT 9o a1 =1 Jhal &

Options :
Linking the independent and dependent variables
| x O AN SATAT =T BN A




Several factors operating in a real-life situation that is not measured in the study
may affect changes in the dependent variable

araigss FJEa B =i § wmE S 9T FE FEE A Js=]adT H
» T FE S E, 9 ANSd =Y H 9idad ®H TH9idd HT Fhd B

2

The outcome or change(s) brought about by the introduction of an independent
variable

IO A1 9iEge (IEEl) B U Emas =Y B EA & gdiE g
3% '

The cause responsible for bringing about change(s) in a situation
4 w FHET BRI H OiaeE (9 B e & [ S S

Question Number : 16 Question Id : 8740819633 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
What is meant by a "spurious” relationship between two variables ?
Options :
One that is so ridiculously illogical it cannot possibly be true

| x % IO TR W9 § eSS ¥ aw w9 9E 8 aw

An apparent relationship that is so curious it demands further attention
U T 99 A a1 M % 98 o = & & "2 Hmear B

A relationship that appears to be true because each variable is related to a third one
U HEH FAl I Udld BT 5 #4i U =Y U e =97 | Heied

=,

1

One that produces a perfect negative correlation on a scatter diagram
U Sl Uehiel AN (989 ==) 97 UF 99 RS dsa9d Iod
4 23 q-.-' .\ll %

Question Number : 17 Question Id : 8740819634 Question Type : MCQ Option Shuffling : Yes Is Question
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



First step of research is :
ST =T 99" =T B
Options :
Designing the research
| ® SN FH TIIET FATT A

Data Collection
) % HATHST TIEHTHT

[dentification of the research problem
3 o AT FHET @ IEE

Analysis of data

L% HiBST 1 [Fecraor

Question Number : 18 Question Id : 8740819635 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which one of the following is not correct about hypothesis ?
UEmedH T & A § Hefanad 5 | @ 9 981 5 7
Options :

A good hypothesis is generally simple
| % UF F=ET Il JAEETdl J4d Bl B

It is necessary that a hypothesis must never be capable of 'being proved' or

'disproved'

a5 HAEAEH 5 [ UFH dEedAr HEl |1 CFANET B "G 91 C|nad |J
5 @ Bl W AT TE B

Hypothesis provides a right direction to a research
Ji¥ehed=l U= eie I d21 Qe Ue Hial B

In empirical research, formulation of hypothesis is an essential component of the

research design

HAGATSE T H, THeTAT B FHOT ST H TG B/ T ATID
4 % SII9 =

Question Number : 19 Question Id : 8740819636 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A researcher has obtained a set of data having values 1,4, 5, 4, 6, 4, 8, 4, 9, 3, 2 find out
the mode :

U el H 1,4,5,4,6,4,8,4,9,3,2 % AN AcI HAHSI B UH TY==4
o AT B, S @ 991 o

Options :
1. % 6

Question Number : 20 Question Id : 8740819637 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

How to judge the depth of any research ?

TE5E1 €1 e 1 =05 B HH ATH AT B 7

Options :
By research title

By research duration
Y AT & ATAT

By research objectives
e IRedl T AJAT

By total expenditure on research
g 9Y [ A B

Question Number : 21 Question Id : 8740819638 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which among the following is not related to qualitative research ?
M=eET § |/ BE YOS AgET J F9ieT T8 57

Options :
Thematic analysis
EERHGEEER P

Case Study
g HA=EA (HE =30)

Discourse analysis
3w M GETE

Survey method

. a7 [=7eEr
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Willingness of study participants to participate in the study is obtained by :
oM Hegge H AR o &% 00 Jemge gia9iiEl & 3281 BhEs 1 9T
Options :

Willingness is not necessary

=] &l A8 B

Informed consent
ged HeHd (SRS e )

2. ¢

Oral commitment is sufficient
s & ANES HIEE THT B

Copyright

o

4 % ) 4 p=1

Question Number : 23 Question Id : 8740819640 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a referencing style ?
M=faad § 9 39 U5 99 9 A8 & 7
Options :

Vancouver

Chicago
s« T9TERET

Index Medicus

. =T HiSTH

Question Number : 24 Question Id : 8740819641 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Sensitivity of a test measures :
Options :

True positives
|« T HBATHS

True negatives
5 % G TAHAIHD

False positives
3 % AT HHIED

False negatives
4 % =T AR

Question Number : 25 Question Id : 8740819642 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Type-1I Error occurs if :
area-1l e 79 =1 & FiS
Options :
The null hypothesis is rejected when it is true
| % T4 I EHeIA T T BIF UT 1 a3 Al B

The null hypothesis is accepted even though it is false
g7 TTERedl Bl HAE BN U |l EERE AT S B

2. ¢

Both the null hypothesis as well as alternate hypothesis are rejected
¥p ) Yp ]
3 % I TETI] AT gHledah IEhed=l @FEl JAM-GIGHT HHE & AWl &

The null hypothesis is not rejected when it is true
9V IEedAl |ed B U7 A7 S 9A1 Bl B

4. %
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

When the data set contains too many extreme values, the most representative average
value is 7

9 AT H HY=4 (ST He) H T9gd AGw =IH "N BM E, a1 799
e 9famTe ofEd #9 BET B o

Options :
Mean

I

Median
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A researcher wishing to draw a sample from sequentially numbered houses uses a
random starting point and then selects every 6th houses, she/he has thus drawn a .............
sample.

OF oAl Al FgHHE® €9 H BN 99 H UF A9 oW Jmdl B, U@
qGesd RS fH6g @ IWEE Ha B AN B gEd 6 4 "7 H FAA

THEAT B, 3H UHNE FET TF .............. THAT AT |
Options :
Sequential

Systematic
2 \'.?.-' IJ:":I ji_l \.:T:]ﬁ

Simple random
3 % A ATGBH

Cluster
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Randomized clinical trials can be best described as :
TGI8 Hal® TN Hl T9a9 =9 # Fioia mar = J96%ar §

Options :
Experimental studies

TR ST
| UTHIHTR A=A

Analytical studies

FERER e e e
2. %

Observational studies
o FATAEHT TET FEAA

3



Descriptive studies

L% JUIHTHTE HA=TTH
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Weight is to the .............. scale of measurement as political affiliation is to the ..............
scale of measurement.
T wvevrrerrnees. THM T B AT TEANTH FIGHAT e, THM TT B |

Options :
ratio; ordinal
L% FHAI; A

ratio; nominal
L T " 1T
o T AIHS

2.

interval; nomunal
AT AEa

3. %

ordinal; ratio
sHHHED; FJAd
=

4. %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

When alpha is 0.05, this means that :
I HTHI 0.05 B, O 3901 Hded & 6

Options :

the probability of a Type II error is 0.95
erEd I i I F49=-r 0.95 &

1. #

the probability of a Type II error is 0.05

L x T e @1 FEE=r 0.05 &



the probability of a Type I error is 0.95

y x OR9 1 FE & FHEr 095 B

the probability of a Type I error is 0.05
4 CE9 1 T @ FE9Er 005 B
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Reliability of measurement means :
AT T FegEHEar # oF T E o
Options :
The method of measurement produce the same results when repeated

=,

| FT @ @ e S 97 981 9iemE 3o Bl B

The different methods of measurement on different materials produce the same
results
e FEEEl 9% " & G i OF &7 9ienE 300 5 B

The methods of measurement produce different results when repeated
, x AT F I SR SN 9 S-S 91O S B

The same methods of measurement on different materials produce the same result

4 % AN GWEE 9 A9 & FAN T8 JEM 90T S SR B
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If you Iladﬂa z-score of 2.33 this would tell you that :
i A9 919 2.33 9 z-%hi< o, ol 9% A9 Farqm @ ¢
Options :
Your score was 2.33 standard deviations above the mean
| I T AT H 2.33 999 GEed el o

Your score was 2.33 standard deviations below the mean
o w HATIH FDHIY AT H 233 AWE GEOE HHoq



There was a probability of 2.33 of obtaining a score greater than your score
3 % IR FHIT H ATH 2-FHT 9T HIA H 2.33 FAEGAT A

There was a probability of 2.33 of obtaining a score less than your score
o FATEI EpR H WH 2RI OTH &2 F 2.33 HHAEAT ol

4
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Sample means are :

gfeel AT &

Options :

Point estimates of sample means
uidesl A1 W1 9wy Ao

1. %
[nterval estimates of population means
5 s CTTHEAT HE AT AH

Interval estimates of sample means
y w FTGRT AT HT S

Point estimates of population means

4 o THEEAT AT ey St
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Field Study is related to :
H Femae @ 9499 fmag BT
Options :

Real life situation

| ardiges Sa- & i




Experimental situation
2 B 1:| J:I-\la_li qi '_-.—'_le

Laboratory situation
\ w TARTETET F et

Simulation situation
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following software is a reference manager ?
ad | | HE-A] Jieddy UF JeH g99% 5 7

Options :
ADMB

Chronux
® EIRER

Endnote
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the iﬂllcrmng is a phgnmm checking tool ?
BialEEEE] o 9 $E-4ar EUEIRZER SIR fIIT—4 R
Options :

ORCID

R



iThenticate

2. o SRS

Publon
3. % TS

Scopus
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The most common structure of a research article in scientific journals is :
IEN=R Ji=RrAT H UF oY o & 99 HH T3 2

Options :
Introduction, Summary, Results & Discussion, Methodology, Conclusion,
References

o TTTET; HITET GO AT ==l 9 anaie; e Jed

1

Summary, Introduction, Results & Discussion, Conclusion, Methodology,
References

5 x ST 9= 9o AR == e e anate; Hee

Introduction, Methodology, Results & Discussion, Conclusion, References

3 @ Oi=: ST Wi 9omH A =99 e J@ed

[ntroduction, Summary, Methodology, Results & Discussion, Conclusion
4 % TCFT; T o miate; 9o o == e
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A measure of symmetry or asymmetry of data distribution is called :

HATHST (FH®) =9 FH FHEIAr a1 G99 & A19 1 FHET AT B o

Options :



Skewness
- EAzIE {_rﬂ THI :]

Kurtosis
Heliad (FHHea)

Mean
H12

3. =

Median

4w FEIET
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Study the given graph and answer the question.
Number of Girls and Boys participating in a Rally from Five Different Schools :
Jr= FER-FT Tl & Yol H§ AN o el dsihdl ST asat @ He

B00
5530 —4—

500 f----cmcmcmocao] peccocoooo-- - - EEEE B EaRatr

450
400 +-1 -1 BE-----1 Bl

350
300 - -1 BN----- BR-----

1 0OGirls
250

M Boys

Number of Children

200 +-1 -1 B-----1 BR-----
150

50

School

What is the total number of girls participating in the rally from schools A and C
together ?
Thel A A THT C | Yl & AFT oF drcll Tsihdi @ FHel e fhal




Options :

4, o 925
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Study the following given graph and answer the question.

Number of Girls and Boys participating in a Rally from Five Different Schools :

I FER-3ET el | YAl | AR o gl dSihal A @Sl @ 6
600
550

500 +-----=m---mmnn

_____ [ ——

450
400 +-4 -----|

350
300 +-1 -

1 0OGirls

250
200 +-41 -----1

M Boys

Number of Children

150

100 +-4 [----

50

0

A B C D E
School

What is the average number of boys participating in the rally from all the schools
together ?

AT eIl F AT Yol ° AR o gl ds@l 3 HEd |9 @Al g 7

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all
candidates.



Options :
1. 300

5 480

n
]
N

Subject & Area Concerned

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

874081175
2

Online
Mandatory
60

60

180

Yes

0

1
874081217
Yes
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is not a component of 'ADDIE model' ?

fefeiiad § | & 'ADDIE dfScl’ &1 9c® 78 § 7

Options :
Authoritative
| v STEHTRS

Design
9 ® -;'ﬁkﬂ -‘.'{‘_"|

Development



Implementation

4'%',3 Ol = | O] = T
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
When was the USSR satellite 'Sputnik’ launched ?
USSR IUie "WdfHd &d of= fhar ar o ?
Options :
- 1957

) % 1975

5 % 1999

4% 1960
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Question Label : Multiple Choice Question

Who developed simulated social skill training ?

RIeics AT HIerel UieeET - fasiad fear ?

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :
Cruick Shunk

Ned A Flander

) s T Tl e



Anderson

3 I:.! \% k1 \:l -1

John Dewey
g S =d@l
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the incorrect pairing from the given :
ToTd g7 @I Tl o9

Options :

Understanding level - Morrison
| % TEH WX - AR

Memory level- Herbart
, w W W - Eee

Reflective level- Biggie And Hunt
3w fOaTeTel @Y - Tl iR &e

Pedagogy - Malcolm Knowles

USTTwl - Hehd Aled

4.
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
What is meant by Andragogy ?
GETITa! &7 @ afef & 7

Options :
Adult learning

1 w i¥=<h T_'JTEH



Student learning
, w ©TA

Children learning
3 % =i @i fen

All of the three
T H 4T
4. %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Match the items of List-1 with appropriate items of List-11
List -1 List =11

T -1 L |

(A) Audio visual aids (1) Response to stimulus
e Gvd A EHEG AR IGIEER

(B) Behavioral technology (2) Hardware
BN APH-11h CICERIR

(C) Programmed Instruction (3) Learning experience from
SFHaT SawE learners

(D) Training Psychology (4) Presenting content through
gfTeror A-Ifd= oraded sequence of controlled

steps

T =R & HiFd AgHH
& HEH W W wd
PHIAT
(5) Software
Choose the correct answer from the options.
g 1 fadcdl § ¥ we 9o} g ¢

Options :




(O8]
®
I
lad
]
—_

4. v
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is the correct sequence of tasks involved in the development of curriculum ?
TSI & faerd # YA BT BT Hel HH T E 2

(a) Formulating goals and objectives
e AR eIl H TR BT

(b) Assessing needs
STeedl T ATl

(c) Selecting appropriate instructional strategies
SUYdd A IS IOHIadl BT =

(d) Selecting and organising content
AU W T 3R oA

(e) Evaluating effectiveness of learning and instruction

g 3R SAJSIH D FHTGINIdT BT JodidhbT

Choose the most appropriate answer from the options given below :
Arg fay v el § ¥ Wad Sugdd 9) gH
Options :

5 % (@, (D), (c), (d), (&)

5 % (©),(a), (b), (d), (&)



4 % (b), (&), (c), (d), (a)
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is the nature of curriculum ?

fr=fafiad | | $F-91 ureg=al &1 UPfd & ?
Options :

Critical

] ¥ Ty

1. % T

Creative

2. % suice

Conservative

Gdlg

3. %

All of the three
= 3 T
4. &
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following feminist thinkers has critiqued Rousseau's scheme for girl's
education ?
= 3§ 9 fow TRIEE! f[aRe 1 w4 1 [E=ar ag [Frm @6l f[9ar &1 A== @
g7
Options :
Mary Wollstonecraft

1

Simone De Beauvoir

= g gam

2. %



Kate Millet
3 % @c e

Naomi Wolf

4 % TS goh
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
"There can be no equality without equity' this statement refers to that :

“Geadl @& O WA WH T8 27 39 HUA B dredd 2 o

Options :
Equality is a essential condition to achieve equity
& THAMC Gl B UTe B Sl AGehd Jd 94 @

1

Equity is essential condition to achieve equality
5 o T HH &1 UTd &Y DI HAGAD Jd I ©

There is no possibility of equality and equity
3 % AT SR AT A $ B PR GG TE 2

Equality is an utopian idea
4 x FAFC UF FAHE [IER g
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which committee/commission has rejected the idea of sex-segregated curriculum ?
fehe WFARYATINT = FayerA 6 SaiRd Uredsd & o &1 adida faar or ?

Options :
Durga Bai Deshmukh Committee
| % Sl 9z MY HH

Kothari Commission
) % fchw H ?.]\‘



Hansa Mehta Committee
3 24T Hedr 9fAfd
NPE, 1986
4 % o Ho o, 1986
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The concept of Modernity is based on the core idea of :
Options :
Rational self

1« ] EFfm e

[rrational self
) ® Hd _r'F:r..-'.u x|

Submussive self
; % [9TH

Self
4 %
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

First generation of human rights were ideologically supported by :
UEell 9G] & Hd AEER & daiNe GaY faam o

Options :

Socialist countries
| % ISRl <= A




[ ies
Developing countries
o % (g <RI A

United Nations
; % GG T HH A

Capitalist countries

s o (ST St
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Right to live in safe environment is recognized as human rights. This right comes under :
GRIET ggieaRer H o & AEBR B 4 Jd AGBR DI Fgar 51 TE 21 98 B
Options :
First generation of Human Rights
| % WM UGl ® A AfEEN

Second generation of Human Rights
, x T O & AE SR

Third generation of Human Rights
. g WEl & A e

None of the three
4% = §  PIE T8
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The tendency to evaluate ones' own culture as superior is called :
Options :
Xenophobia

| % ST



Cultural relativism
, w WIEpIdD ATUE

Ethnocentrism

;o T

Acculturation

I:t':l:.lﬂqkq\:'l q
4, %
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following statements is true about theory of cultural lag ?
Hitpids fAee & g & Hag § $HE-91 $UT 6 2 ?

Options :
Immaterial culture changes fast in comparison to material culture
| w WGP WEpla Aifas FEpfa 1 o 7 Tofl § g 2 |

Material culture changes fast in comparison to immaterial culture
5 o Hifts B il AEpld & g § dull F agord 2

Both the aspects of culture change at same pace
3 % HEpfd & QM1 9 §9E g § gged 2 |,

Material and immaterial culture don't affect each other
4 % IS HEPRT S SHITE GRpIT U@ T PT AT Tel v
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In India the Right to Education has now been accepted as a fundamental right; it is an
extension of an already existing fundamental right of :

qwd H 39 e s qo SAfaeR g 98 sl 9 2 fau U {59 qo SfEer @1 IR
B 7




Options :
Right to freedom of speech and expression
P CEN 3R sAfeafad @1 w@daar & SAfHeR

Right to form associations
5 % W SR WIS G B ATDR

Right to practice one's own faith

3 % TS ATTe] &I HfEhN

Right to life
4 S HT SRR
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

As per Government of India statistics, government schools have higher gender parity
index (GPI) in comparison to private schools. What does this mean ?

ARG WHR & Albel & FJAR, AXHN Tell BT wsy Joddl Jadie (Wlo Hlo
ATg0) ol Fhell B or-l | 2ax 8, SHHI 941 aread g 7

Options :

There are more girls in private schools.
o (ol Fhell F wTeT orefedr |

l.
There are less girls in government schools.
,  TXPIA TRl § FH dsfwAt T2 |
There are more girls in government schools.
3 TXPT FEl H ST ST €
Government schools have equal number of boys and girls.
4 & GO WAl H dsd AR ASfHAT B AT awey 2|
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Provision of Mid-Day Meal in schools is an attempt to ensure :
fEreneral § qears dio A 4 H 8 @ gAftEd s &1y B 7

Options :

Equity

v 37
Equality

2. %

Neither equality nor equity
3 % 7 O FHEC SR T & g

Harmony

4 %% ‘
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Who has written the book, "Why I am not A Hindu-A Sudra Critique of Hindutva
Philosophy, Culture and Political Economy' ?

‘B A1 UA Hdfe U 25U ga1 fbfed e fga o), doox Us uifafesd
SHIHI JEIh & o & 2

Options :
Ashish Nandy
| x e

Periyar E. V. Ramasamy

2$'ﬁ?x.]€§§0¢0?ﬂﬂ-ﬂﬁ

M. N. Srinivas
;. % Ao To sfifHard

Kancha Ilaiah
4, P Yoty
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is net a life instinct ?
Frferiiad 3 $I9-91 oildd 4ol 9gi 78 @ ?
Options :

Love
1. ® e

Hunger
2. ® 1=

Thirst
3.% ¢ !

Hatred
4, & TOXA
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which psychological approach believes that any individual has the potentialities for
healthy and creative growth ?

[ HATAS-e U &1 Je favary 2 o fodl arfaq § @y ud ga-reds gig ol
gy ffgd e € ?

Options :
Behaviouristic approach
RIGE RGBSR B

1. ®

Psychoanalytic approach
5 % FANAECIHUIETS SUNTH

Structuralist approach
S BLACRICEASEINE




Humanistic approach
4 ATadTdTal 91T
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Following are the needs according to Maslow :
ARGl & AJAR =i sraegsard 1 T3 2

(A) Self esteem need
SATcH HHAMA

(B) Safety need

(C) Intellectual achievement need
il SUcled @I ATTaHdl

(D) Belongingness need

Choose the correct option showing hierarchy of needs in ascending order :
SARIE! A H ALGHAl & GUEl DI S W2l fddbed &l g
Options :

(B), (D), (A), (C)

1.¢

(D), (A), (C), (B)

2. %
(C), (D), (B), (A)
4. %
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



Match List = I with List =11 :
A — [ &1 Fa= g - [ B

List - I List 1T
-1 -

(A) Psychoanalytic approach (1)  Unique perceptions have a

AfasauoTdE SUTTH role in guiding individual's
behaviour

BN H 9D IS HCUEl

&1 qHHT Bl € |

(B) Behavioural approach (1) Behaviour is affected by
dENTHE FUTTH ways information 18
received, perceived

processed and stored
ATER Err-rr-r JHTdd BIAT ©

(C) Humanistic approach (111) Unconscious motives
AFIaTare] SUrRTH determine behaviour
iR &< €|
(D) Cognitive approach (iv) Behaviour is determined by
ST d SUNTH rewards and punishments
GUS T PN BRI AdEN
feerfe &rar £ 1

Choose the correct answer from the options given :
Options :
A-iv, B-iii, C—ii, D-i

1. %
2,%?"A_m‘ B-iv, C—-i D-ii
3 % A—-1, B-ii, C—iii, D—iv

4 % A-1, B-i, C—iv, D-iii
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Choose the correct option from the following pairs of psychologists :

Frfafad JHIasTel & 79 5 | Wl fdsen g+ -

Options :
[. Pavlov & C. Yung
| % 3mSo Ugera wd Ao G

S. Freud & C. Yung

5 o WIS T o T
C. Yung & C. Rogers

3 ® QﬂoTTQETﬁQ o

C. Rogers & E. L. Thorndike
L % Wio T TG So Tdlo AfHes®
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which processes are involved in learning through modelling ?
feeH (Afefer) & Areaq 9 dras § eE-31 ufshard Ger g 2 °
(A) Attention
e
(B) Retention
g7
(C) Reproduction
(D) Verification
HA—
(E) Motivation
UM

Choose the correct answer from the options given below ;
Options :
(A), (B), (C) only

| ® P99 (A), (B), (C)




(A), (C), (D) only
Faal (A), (C), (D)

2. %
(B). (C). (D). (E) only
, & P9 (B), (C), (D), (B)
(A). (B). (C). (E) only
. Fac (A), (B), (C), (B)
4.«
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Question Label : Multiple Choice Question

Given below are two statements :

el g1 HyA e T

Statement I : Students' self regulation assists learning.
S 1 : et &1 Wi feE H 9ers e @

Statement 11 : Self regulatory skills inerease with maturation.
$Y 11 : IRIFaar ¥ WHI9T HI9d dedl ©

In light of the above statements choose the most correct answer from the options given :

SR FIA & ATl H, == 7 faweat § 9 999 921 39 I+ -
Options :

Both statement I & Statement 1I are correct.
1 o P [ T2 Fe I 2T 927 & |

Both statement I & Statement 11 are incorrect.
5 % P 1TAT HAT M I Ted 8

Statement 1 is correct, but Statement 11 18 incorrect.
3 % P IWE 8 WHYH 1 7Terd 2

Statement 1 is incorrect, but Statement II is correct.

4 % DI 1TET 8 TR Fe M9 8
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Given below are two statements : one is labelled as Assertion A and the other is labelled
as Reason R :

A g1 ®Ud fQu U € udh AHFHUT (Assertion A) D wU # fafad 2 91 gEv 99D
@Y (Reason R) & w1 H :

Assertion A : In nondirective counselling there is awareness of true feelings, experiences
and unconditional self-regard in clients.

SIS A : ACTHS SUeEE d UG A9 IRdfde /e, dAg9dl & ufd
SNTod Bl & AT 994 IoRied Sed JH1 &idl 2 |

Reason B : In nondirective counselling there is empathic understanding and
unconditional positive regard for clients.

$HROT R : AFSumers SudeE d Sudiad & Ui IeNfed AeNIeAE e g
HATHfA Bl 21

In the light of above two statements choose the correct answer from the options given
below :

JWRIRT hYAT b ATl H, - AU ¢ fdocdi 4 ¥ Had Wl 9oy g ¢

Options :

Both A and R are true, and R is the correct explanation of A.
|« AR RTH W& € R R, A BT Wl @ 2

Both A and R are true, but R is not the correct explanation of A.
, » AR RTM ¥ & TR, AT Wl e e 2|

A is true but R is false.

; % ATE € W R -l 2

A is false but R 1s true.

4, % ATE FEl 8 W RWE T
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who advocated for direct methods of assessing personality ?
i & Sllde @ ford e Ucger fafei & fZ[ma &1 2
Options :
Carl Rogers
o T o

1



Sigmund Freud
2. % RIS HIae

Raymond Bernard Cattell
3 % VAUS WS ded

Gordon Allport
4 o TS e

Question Number : 70 Question Id : 8740819687 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No
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Question Label : Multiple Choice Question
According to Eysenck which one of the following is a characteristic of an introvert
person ?
AEuih & FTER U gl «afad @I, Freferfiad 4 SH-91 Ut e 2 ?
Options :

Optimistic

SIEIE 2

Impulsive

2&3 S IEREIE

Thoughtful
3 o faETEfie

Talkative

4. 8 qreAl
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Question Label : Multiple Choice Question



Given below are two statements :
S |1 wd e T g

Statement 1 : Content of cognition includes things in the real world and their mental
images.

Y9 1 : 999 @ faugawg & Jaid 26l § dRdids GUR B U 9uT 9!
S B (@fEh) |

Statement II : Metacognition and cognition differ in their functions.
YA 11 : WS (R if=9E) a1 939 & dEf 3 e el £ |

In the light of the above statements, choose the most correct answer from the options
given below :
SORIT ol B SITelid 6, WAl W SR B, A A e § W g
Options :
Both statement I & Statement II are correct.
| DU 1T B ST WE €

Both statement I & Statement IT are incorrect.
5 % DU 1T B M ST Terd |

Statement 1 is correct and Statement 11 is incorrect.

3 % B THE 8, WHIF 17T & |

Statement I is incorrect and Statement 11 is correct.
4 % U 1TAT € W HAT N 2|
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Question Label : Multiple Choice Question



Given below are two statements :

I g1 ®eHE 50 T ¥

Statement [ : According to social cognitive theory, learning is a change in mental
structures that creates the capacity to demonstrate different behaviours.

YT 1 : AETH F GNP FeHEd g & JgaR A, qHids geamei |
g2 uRgad ¢ ey = aer &v @ gaar giad 8l 8 |

Statement II : According to both the behaviorist theory and social cognitive theory
feedback is important to promote learning.

Y11 : SH1 Fderd] fgr 91 IEfas GaHds e & J7aR SfERTa &l
In the light of the above statements, choose the most correct answer from the options

given below :
SRIF HIAT & Aeild §, - f5d fawedl ¥ 9 wa9 g I & g
Options :
Both statement [ & Statement II are correct.
» BUF 1T o I EH w8 2

1

Both statement [ & Statement 1T are incorrect.
5 % @FT 1T B M EHT Terd €|

Statement 1 is correct but Statement 11 is incorrect.
3 % PUTIWE T WHYF 17T 2|

Statement 1 is incorrect but Statement 11 is correct.
4 % P IITET 8 W P MW 2|
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Question Label : Multiple Choice Question



Given below are two statements :

< &1 Y feh T E

Statement [ : Intrinsic motivation is that in which individual is motivated to engage in
an activity as a means to an end.

DY | : ARG AR 98 2 ForaH (6l oeg &1 Wi g @8 Afad & s 4
Her B & ford aifwuid 2 2|

Statement II : Extrinsic and intrinsic motivation are contextual.

Hg 11 : 9180 Ud AR AHUROT Hedird & @ |

In the light of the above statements, choose the most correct answer from the options
given below :

IS FAAF & ATelle H, A= G faweut ¥ 9 999 98t 9 & 1

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all
candidates.

Options :
Both statement [ & Statement II are correct.
| AT 1T B 1 ST e g |

Both statement I & Statement II are incorrect.
o U [T e [ &Ml Tefd €|

Statement 1 is correct but Statement 11 is incorrect.
5 @A 1HE 8 WHAH I 7Terd 2|

Statement I 18 incorrect but Statement 11 18 correct.
4 PUF 17T € W HUA 19 2|
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is nof true for attention ?
fr=faiad 4 | SF-91 sfauH & fov 9 J87 & °
Options :

Attention is selective process.
| % SEET TS Mk €



Attention is not a process but a product.
5 @ T TH Ffshar T2, afed Soarg 2 |

Nature of attention is dynamic.
3. % SGET BT P TATHB 2l 2 |

Attention span is generally individualized.
4 % SHTE BT R GHEFIG: Gafdds e g
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Question Label : Multiple Choice Question

According to Freud an instinct has four characteristic features : a source, an aim, an
object and an impetus.

IS ® AJER Jol UGl & R W diRned B & : 9, 983, g% T i

What does source mean in this context ?
T G H Hia o1 A 2 7

Options :
Force
| % qel

A bodily condition or need

) & UP ofew flafa ar smavaesa

The behaviour that takes place in securing the necessary thing or condition
y % 0% TAER, of SEd a%g Siar Refd & 9 wx+ @ forg fovar wiar 3

The particular thing that will satisty the need
gz fafire T W1 SAaegdal @1 gid &Y

4, %
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Question Label : Multiple Choice Question
What should be done to intrinsically motivate the students ?

faenfaiat o1 afafe w0 9 IR o & &9 Far =T Ty ?




Options :
The teacher should fully control the class
| w [RETH BT e BT YO I T e

Increase curiosity of students

5 (AR @) A ggrE e

Present easy tasks to students
3 ® (Al &1 ¥ed s oA =fied

Avoid fantasy in class
4 % ET F HeqA F gU- Amed
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Ink blot tests are used to study which aspect of Personality ?
WE- gl URIE g1 Afddd & fhd ST & Segd= fbar a2 7
Options :

Conscious
1. ® Ad

Unconscious & Conscious both
o 3= 9 - gl

2.

Unconscious
3. ¢

Racial foundation of personality
4 x SR B SRIT STER (FR1)
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Question Label : Multiple Choice Question



Match List — 1 with List - 11 :
QAT — 1 &1 Fem gt - 119 &

List -1 List =11
A -1 -1
(A) Thorndike (1) Theory of Transposition
9 ;F\_-E -..gE G Y 51 E\CIU < |i:|<_i-|: 3
(B) Charles Judd (ii) Theory of Ideals
EISRSES eell 9 qedi &1 g
(C) W.C. Bagley (iii)  Theory of Generalization
(D)  Gestalt Psychologists (iv)  Theory of Identical elements
TNeTee HATdsd TRy T2 1 g

Choose the correct option :

GET [d&cd &1 9794 &Y

Options :

L% A— i, B-ii C-iii, D-iv

) A-—iv, B-ii C-ii D—i

3 % A—1, B-ii C-iv, i

4 % A-1i, B-i C-iv, D-iii
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Question Label : Multiple Choice Question

According to Psychosocial theory of development which stage occurs during
adolescence :

fra & FAMEEfds HErd & ATER HF-HT =R [HeREwen &7 2 ?

Options :
Fourth Stage
| w ST =ROT



Fourth and Fifth Stage
) # EIEPH Gl Cl':ft ar TNU

Fifth Stage
3 v q‘:IEIC..:? T]WL

Sixth Stage
4. % ol gt
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who gave Bio-social theory of personality ?
fiaed & Wfas-amfos g e fgar an ?

Options :
Cattell
1% PCC

Allport
2. B o "'\ 'CI-

Eysenck

3 \-.-"'"‘3 \E.lk:"":':l:.'

Carl Yung
4 % bl TT
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Who wrote the book 'Principles of Behaviour modification’ ?
fehe Tifued 3w faefqar difsfhae 9m &1 ywas fora ?

Options :
Albert Bandura



B. F. Skinner
) % dlo Uho by

E. L. Thorndike

.
3 % g0 Udo 5-_'1 EEIEETD

Vygotsky

423 o | =d =L

Question Number : 82 Question Id : 8740819699 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No
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Question Label : Multiple Choice Question

The model of behavioral objectives of curriculum evaluation was presented by :
TSI Hedith © WaeliNe Igavdl @ Afed fehds g Uwgd faar T o ?

[

Options :
John Dewey

Hilda Taba
3 % [geal qml

Stuffle Beam

4 % Thel 49
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The forces that effect the development of curriculum, called :
qroaad] @& fa&Td &1 U9ad &Y diell Ifaaddi ®f wel rdl 8

[

Options :



Curriculum Design
RV LICEE IR

1

Curriculum Evaluation
qIGashH el

2. %

Elements of Curriculum
qIgdshd & Tcd

3. %

Foundations of Curriculum

4 % YIS dshH o AN
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Who said 'God is dead' ?

[eha &el, “9Ia AR Tl 2 7

Options :
Schopenhauer
| % YTHETaR

Popper
2 % U

Satre
3 @® \:|'~_:l

Nietzsche

4.« IR
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Question Label : Multiple Choice Question



For a random sample of 9 women, the average pulse rate is X = 76 beats per minute, and
the sample standard deviation is s = 5. The standard error of the sample mean is :

9 Hfgellall & Ush Argieod Uiaey @ faQ, dMd Arel &8 x =76 ¥l uid f&Fe 2, 3R
yfceel ®1 AFe fages s=52 | ufdeel & Fegq @ 99 e 8

Options :
L ® 0.557

, % 0745

L % 2778

4 1.667
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Question Label : Multiple Choice Question

The magnitude of the critical value for a two-tailed test compared to a one-tailed test
with the same significance level will be :

WEHdl & HAF WR & (00 U Y1 Uen & sifde J19 & GRANT S gen |
Sfageeia T¥IeTor &7 hifde H

Options :

The two-tailed critical value will be smaller.

g GIAgeeld TR0 HIF BIEl 81

1

The values will be the same.
5 w A HA B

The two-tailed critical value will be larger.
> Sfag=sia TXIEw 319 981 8 |

3
The two-tailed critical value will be twice the one tailed critical value.
SI-U=EIY pifce AN Udh J=IF NIV & hifde AT &1 T T[1 BN
4. % N -
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A test is conducted for H, : p = 34, with standard deviation = 5. A sample of size 100 is
selected. What is the standard error of standard deviation of the sampling distribution ?
H, :p=347% o0 9 fdaad =5 & W Udh 98 rarfad fear Sar 21 100
HATHN T U Fiaad A1 Sal € | io=as f9orer & #1996 faees & 7ma Jie @
T ?

Options :

| % 222
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

ANCOVA is, in a sense, a combination of which of the following pair of statistical
techniques ?
T=pMAl (ANCOVA), UF 39 #H fa=fafag § § foq wif=sm aaiel & 06
T 8 7
Options :
MANOVA+ANOVA
& HATaT (Manova) + UAdT (Anova)

1

ANOVA+ REGRESSION
5 Tl + Ul

REGRESSION+ t Test
3 % T + T ORE

t Test+ F test
4 5 L E.\'_[_. + FE.Q“_L.
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following statement is not true with regards to chi square test ?
@2 T e & Hag F FrEfoad § ¥ $H-91 $F 9 6l g7
Options :

The sum of expected frequencies in chi square must equal N

| ® PR 9 AR SGRIET T AT NS &R &1 A1 |

The sum of the differences between observed and expected frequencies must be zero

o % WfET IR i amgRmdt & @ iR &1 AR g BT ARy |

As the number of categories in a chi square table increases so does df
SRS B T AeReT § ARRK @) WEn Tad @ 39N (@A B o) df

3 8 ﬁﬂﬁpf é-l

In a 3 x 4 chi square, there are 12 degrees of freedom
4 B 3X4BE T 4, WA & 12 39 B £ |
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following statements you believe to be True when considering the Mann-
Whitney U test ?
AF-fael g wden W fEr S A o9 FEfaiEd § 3 $H-91 $2F Hod qd
g7
Options :
It can be used with scores on the interval level only.

| x T TN Hael Javd WR UR @R (T<i®) & A fhar o w2 |

It is the equivalent of the paired samples t-test.
i J% AT Ofaee 9Ev @ ged B

2.

It is used when the distribution of the data is skewed.

3szr. TUART a9 a1 war € 59 ST o faawer fauy 27



It assumes that the standard deviations of the two independent groups are equal.
IE AT € {6 51 Wad GYEl & e fade axex g |

4. %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a common element of research proposal ?
fifeiaa § 9 ®FE-91 9 URdTd &1 Udh WA Sdad/dod T8l o ¢
Options :

Objectives

| % 9 =

Hypothesis/Assumptions
5 x RO TR

Suggestions for further researches

3 o AN H SFFHEE B forT YT

Reference of previous researches
4 % O STIEETT &1 G
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one is not the impact of adopting neo-liberal policies in education ?
frefeiag 4 9§ @ e § Fa—Sarare! ifadl @ U H JHE T8 7 7

Options :
State funding is increased on education

| T BT e W Ed F gfg

State funding on education is reduced

5 % T R T W wd § B



Private players become dominant in education sector
3 w [N @ & H Sl e &1 qagar

Market-driven courses proliferates
4 % ST FARIT areashHr ¥ g
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

According to multiculturalism minority culture needs protections because people should
not be discriminated simply for being born in a minority culture. This principle of
unchosen circumstances is given by :

Tg—ARiahalg & JATIN JTEEE TRl BT W0 foar A =1y waife aAr
& WY FEFIF FdeR % gEfelw T8 fegr WFn =fey T 9l o el
ATHES HERld H g 2| 7 I T3 Reafadi &1 98 g fwe fgar g ?

Options :

Communitarian

Post-modernist
“ SRS P IECRICIE

2

Liberals

3 \f l\.i e | 3’:| b

Post-colonialist
% SN ETRd]

4
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one is not the example of vulnerable internal minorities ?
= 4 9 B S ARG SeTHEId P Salexvl A8l © 7

Options :



Religious dissenters
% HH ¥ 3[EEAf T gl

Women

&2

Hetero-sexual persons

i~ Be -
3 [dY9H ellildh <

People having alternative sexuality
4 % dPCAP WS A qTel T
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

India has chosen certain groups (SC/ST) to provide protective discrimination. What is the
criteria for the selection of these groups ?

ARG H AgEd Afd/ SEd B SRAvTHS [ausiae B T 2, 39 el @
A BT HER F1 T 7

Options :

Past injustice incurred against the group
31 GEl & e afcdid | fhar T s

1. v

Future goal of equality
s TSI H AT A S B e

Present socio-economic inequality
g AN WSS FFA

Present economic inequality
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Question Label : Multiple Choice Question

Who among the following is related to third force in psychology ?
fFr=fafiad § $F A4I9s & gord ad o g § 7

Options :
B. F. Skinner
% dlo Tho [N+

E. B. Cattell
AMNo dlo Hed

A. Maslow
To HIEA

E. L. Thorndike
g0 Tclo AHEESD
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

According to Allport, how many central traits are there in a person ?
Sfcdlc & AR el @fdd 9 fha efieqo 2 & 2

Options :
One
1. ® Lo

Two-to-three

, w QU
Five-to-ten
3 U—H—<cH

More than 15
4 % T=E 9 S

Question Number : 98 Question Id : 8740819715 Question Type : MCQ Option Shuffling : Yes Is Question
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The unorganized model of concept attainment deals with :
FHTST HHeHd JUAie WA Wi 2

Options :
Concrete aspects

1 33 H_\ﬂ l":l;: :I - (rl.x 1('_:

Abstract aspects

2.¢ '

Visible aspects

3 %8 g F"?-.lwﬂ

Tacticle aspects

4. % &
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The Error Rate (ER) of a programme instruction has the following formula :
ARSI e & I X FH YA T

=
=2

Options :
B Total Errorsx 100
Total items % Total students

Sfe v = e @1 W ATTX100
. d o T x Ranftal # o w@Er

_ Total items x Total Errors
~ Total students x 100

S = @ Ue X gfear BT wY AT
. ) faameial @ $a d=1 x 100

ER




3 Total items <100
Total students x Total Errors
. thel Tg x 100
3% fAarial @ g @@ xJedi &1\l a7

ER = Total studentsx 100
Total Error x Total items
— AErEaT o o 9=
IR w = fazmeifal @1 @ J=T x 100

= =t o] OC
el I X ol Hg

4, %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

When NCTE was established ?
NCTE %4 Tenfud gar o ?

Options :
| % 1961

5 1973
3 % 1998

4 % 1971



